
 

 

 

 

 

Summarise the information by selecting and reporting the main features, make comparisons 

where relevant. Write at least 150 words. 

Shoe Sales of two types in certain European countries in 2018. 
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Overall 6 6.5 



The bar chart shows the sale of leather shoes in two different colours, brown and black, in 

various European nations in 2018.  

Overall, the sale of black leather shoes was the highest in Hungary, whereas that of the 

brown leather shoes was the highest in Poland. The country where brown leather shoes 

were the least popular was Belgium.  

Black leather shoes were preferred mostly by Hungarians where well above 125 shoes were 

sold, while French people bought the least at just above 25. Equal number of black shoes 

was sold in Germany and Ireland at about 75.  

Brown leather shoes were mostly favoured by Poles at approximately 130. Interestingly, 

Belgians bought lest than 5 brown shoes, while all other countries experienced a sale of 

more than 50. The difference in preference in the two different shoes was seen the least in 

Hungary where the gap was less than 10, and this gap was the widest in Belgium at about 

100. 

 

 

 

 

 

 

 

 

Task 2 

 

Food travels thousands of miles from producers to consumers. Some people think that it 

would be better for the environment and economy if people only ate the local food 

produced by farmers. To what extent do you agree or disagree with this opinion?  

 

Experts throughout both the developing and developed world have debated the effect of 

local and international food on economy and environment. Some believe the benefits of 

international food outweigh the drawbacks, however  I strongly disagree. This essay will 

argue that consuming local food is advantageous using examples to demonstrate points and 

prove arguments.  
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On the one hand there is ample evidence that food industry is a lucrative business. The 

central reason behind this is twofold, firstly people enjoy having a variety of options to 

choose from. Secondly, people do not have to travel long distances to try a new food. For 

example, recent empirical research by the UK Government demonstrated that 90% of 

restaurants in London serve food from different countries. It must not be forgotten that  

although transporting food pollutes the environment and puts local farmers out of work, a  

majority of people enjoy eating and paying for it. Therefore it is clear that food produced 

internationally has its benefits. 

 

On the other hand although there is a case for international food being enjoyed by people 

worldwide, the impact of it on economy and environment cannot be overstated. This is 

largely because local farmers become bankrupt and food transportation creates pollution.  

For example, an empirical study proved that when a person does not buy local produce, the 

local farmers cannot thrive and fossil fuel will be used to transport the food. Consistent with 

this line of thinking is that local economy can prosper and the country will become self-

sufficient if people bought only local food and pollution will also decrease as a result of 

fewer vehicles on roads. Thus it is possible to state beyond doubt that consumption of local 

food has economical and environmental advantages.  

 

From the arguments and examples given I firmly believe that people should be encouraged 

to eat only local food. It is predicted that consumption of local food will increasingly grow in 

importance. 
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Examiner’s comments: 

Task1 

 شدند برده نام کشور 4 فقط سوم پاراگراف در. نشده مطرح اتیجزئ که نجاستیا تسک نیا یاساس مشکل

 مورد 81 که ستین نیا منظور. بشن ذکر ها کشور همه یاصول شکل به دیبا.  آخر پاراگراف در نطوریهم و

 شهیم. بشن مشخص دیبا ها متوسط نطوریهم و نیکمتر و نیشتریب یول. بشن مطرح تک به تک کشور نه از

 .هست مهم نکته نیا تیبالارعا نمره کسب یبرا. کرد انیب جا کی در رو ها متوسط مثال یبرا

Task 2 

1st paragraph 

 موضوع یمعرف دیبا هست introduction که اول درپاراگراف که نهیا داد قرار نظر مد دیبا که یا نکته

 مردم اگر گفته که یسوال یپاسخگو که است شده مطرح انیز و سود  بخش نیا در. باشد شده خواسته

 .ستین...  بخورند یمحل یغذا "فقط"

2nd paragraph 

 

 از منظور که ینکرد انیب  Topic Sentence در که هست نیا داره وجود دوم پاراگراف در که یاول مشکل

 آخر خط با نیا و  international food industry  شهیم که هست ییغذا یالملل نیب صنعت ییغذا صنعت

  that food produced internationally یگفت concluding sentence عنوان به که پاراگراف نیهم

 مشخصا که یالملل نیب صنعت یگفت که آخر خط با یداشت ییگو یکل قصد اگر یعبارت به. ندارد یهمخوان

  .ندارد مطابقت هست یا گهید زیچ

 یبرا یمحل یغذا از استفاده که نشده داده یمناسب پاسخ شده مطرح سوال به که هست نیا دوم مشکل

   .هست بهتر اقتصاد و ستیز طیمح

 نیا به یجد توجه و خوانند یم را ها سوال اول خط فقط اکثرا که ادیم وجود به نیا یبرا مشکل نیا

 .خواسته یچ ها آن از سوال که ندارند

paragraph rd3 



 

 استفاده چرا که یکن نگاه سوال به هم نطوریا یتون یم یول بود بهتر یقبل نسبت به پاراگراف نیا خوب

 نیزم ای ستین ازین مورد محصولات کشت امکان جا همه نکهیا مثلا. ستین خوب یبوم داتیتول از محض

 یپاسخگو که هست ممکن قاعدتا یمحل یغذا نکهیا عنوان به یبد بسط یکم رو نیا و کمه زیحاصلخ یها

 .نباشه مردم ازین

Final Comment 

 از محض استفاده چرا که یبد حیتوض پاراگراف کی در که کرد میتقس بخش دو به رو متن شهیم تینها در

 یم جادیا یبوم دیتول به محض هیتک که یمشکلات از یبعد پاراگراف در. خوبه یطیمح ستیز و یاقتصاد نظر

و نشون بدی که نظر نسبی داری. اینطوری هم نقاط مثبت کار رو در نظر گرفتی و هم نقاط منفی   یبگ کنه

 کار.

 

 

 

 

 


